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Frequencies:,  
 

Horizontal Freq 1 Freq 2 
 

Tune 
 

Mean(w) 1.352249 1.60434 
 

6.76472 
 

Stdev(w) 0.001961 0.002823 
 

0.00055 
 

 
Vertical Freq 1 Freq 2 

 
Tune 

 
Mean(w) 1.352238 1.603832 6.76476 

 
Stdev(w) 0.001584 0.002154 0.00042 

 
Fitting Model 
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BPM gain: Vertical
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SQRT(NCHI2) as BPM noise
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sqrt(nchi2) as BPM noise (corrected)
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alpha: damping coefficient: Horizontal
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alpha: damping coefficient: Vertical
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Phase advance: Horizontal
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phase advance: vertical
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Fit mode 1&2 of Horizontal data to the model 
 
 W1 W2 Nchi^2 
Mode 1 1.353014 1.604340 0.00017 
Mode 2 1.352549 1.603710 0.00027 
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